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A BFIB
Mz H2AUGID MHEQE KNHSAXTH(BHES/IAH)
S ANASHABEHOIZAMNE (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 100,000
== 50,000
403 XX S M S X201 A 150,000 900, 000 750,000
= 100,000
= 50,000
01 HXHNMAHEBEE = 150,000 900, 000 A750,000
O gt =8 2N SIEUZ ZHAIY 150,000
2 100,000
o= 50,000
MEH=0lE x4 220,000 396, 000 A 176,000
Xl 150,000
& 70,000
403 XX S M S K201 A 220,000 396, 000 A 176,000
Xl 150,000
& 70,000
01 XIS AE2E X 220,000 396, 000 A 176,000
OMEN=0le Z=H ALY 220,000
Xl 150,000
== 70,000
MEf2ZXSE XNE - 54 65,000 65,000 0
= 50,000
= 15,000
308 AXISHXSOoIH 65,000 65,000 0
= 50,000
o= 15,000
01 AXHNNBMNEXTZ 65,000 65,000 0
OME22X9 XNE -84 65,000
= 50,000
& 15,000
S AAMERAH 2= 111,000 0 111,000
= 111,000
403 XX S M S X201 A 111,000 0 111,000
= 111,000
01 MXHHAEBE = 111,000 0 111,000
O SAAMEIH(SAHILE) ZEAMY 111,000
= 111,000
Teioty E4 600,000 0 600,000
Xl 600,000
403 XX S M S K201 A 600,000 0 600,000
Xl 600,000
01 AIXISHM A 22X 600,000 0 600,000
Osa+3d XNAY T4 At 600,000
Xl 600,000
ANASHILMEIHE N 3,000 3,000 0




2N
X ZH -
L= B

el

SZI MY
AUotD MPAJE= NHSFILH(BLHES/H
NS YEHA RN

e

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NHESSIH 82U A 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DI2ZHHALALSE E X 3,000 3,000 0
ONHESsd d=3a &4 3,000
OrsAEEs Y 2el 1,039,100 1,283,400 A 244,300
= 397,000
< 642,100
O == Il oH Oll 2 AH 321,100 364,000 A 42,900
= 247,000
= 74,100
403 XA SA=0l& 321,100 364,000 A 42,900
= 247,000
S 74,100
01 HIXSHMA2E X 321,100 364,000 A 42,900
OOt == HIGHH &AL 321,100
= 247,000
= 74,100
OHM=E= Tl 24 XA 129,890 129,890 0
308 XXM SOIA 129,890 129,890 0
01 XML EES 129,890 129,890 0
OOtMESZ= Ha24 X 129,890
OS2 Ol X X 142,110 142,110 0
308 XX EHH SOl A 142,110 142,110 0
01 X HHIBLEES 142,110 142,110 0
OOt ESE mo&XE XA 142,110
Ofd=s2 X 2eldly 298 XA 400,000 600,000 A200,000
= 120,000
< 280,000
308 AHXIEHHSOIA 400,000 400,000 0
= 120,000
< 280,000
10 B2 S0t B & XA 400,000 400,000 0
OftsExrx2dH 2% X 400,000
= 120,000
= 280,000
OHsAE E5ES 2,000 3,400 A 1,400
202 044l 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
OOt sAEsEsEs ¢l 2,000
MATXI2 E8I12 XI& 44,000 44,000 0
= 30,000
< 14,000

w




SN BZFYY
FM: AL6tD MPAQJE= NASATLH(BEAES/AA)
Sl OFMESASE5Y R CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 44,000 44,000 0
= 30,000
< 14,000
01 HIXNHHBHNEELES 44,000 44,000 0
OMAXIe &I X 44,000
2 30,000
< 14,000
MWRESII=E & X220 6,977,890 9,984,760 23,006,870
2 5,065,700
Xl 250,000
< 1,662,190
CHOIEHZOHH O 2 = & 6,704,050 6,546,550 157,500
2 4,945,000
Xl 250,000
< 1,509,050
HHIAXE 2YH EX 224,250 156,000 68,250
= 172,500
< 51,750
403 XSS A0l & 224,250 156,000 68,250
= 172,500
= 51,750
01 XM A2E X 224,250 156,000 68,250
O&EHIAXE 2L EX 224,250
= 172,500
< 51,750
BIAHEEZ AMEE 24A MHHASEE (AZ) 85,000 109,000 224,000
= 85,000
308 XXIEHHSOIA 85,000 109,000 224,000
= 85,000
01 AXNHHBANEES 85,000 109,000 A 24,000
OHIMYRS AT 2AIA HSALEY (AR
) 85,000
= 85,000
EBEAZOIEN Jt2It+ ClMEE XIs 140,000 185,000 A 45,000
= 140,000
308 AHAIEHHSOIA 140,000 185,000 A 45,000
= 140,000
01 HIXNHHNBMNEES 140,000 185,000 A 45,000
OEHAZQEN 29 140,000
= 140,000
HsAH 22 A 300,000 274,800 25,200
=2 250,000
< 50,000
403 MtXISHH S0l & 300,000 274,800 25,200




SN BHEYHI
M HREZBIN=E L X720y
S HIg3NdHBF (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 250,000
< 50,000
01 HIXSHMA2E X 300,000 274,800 25,200
OS2I MsABU £XAHY 300,000
= 250,000
< 50,000
BIAHEEZ AMEE 24IA MHHALE (29H) 100,000 102,000 A 2,000
= 50,000
< 50,000
307 21201 A 100,000 102,000 A 2,000
= 50,000
< 50,000
02 ItFAAFE R 100,000 102,000 A 2,000
OHIMHEEZ AIHE 24I0tA AHALE (A
) 100,000
= 50,000
< 50,000
SIS 2RO (HS) 10,000 10,000 0
308 XXM SOIA 10,000 10,000 0
01 AXNHHBANEES 10,000 10,000 0
O&dIc MU (HHE) 10,000
Sdi0IE HMelX&d 3,057,600 3,712,800 A 655,200
= 2,352,000
< 705,600
308 MtXIEHSOIH 3,057,600 3,712,800 A 655,200
= 2,352,000
< 705,600
01 HXNHHNBHEELS 3,057,600 3,712,800 A 655,200
OsdiOlE HMelXl& 3,057,600
= 2,352,000
< 705,600
IS 20 X 1,108,000 228,000 880,000
= 868,000
< 240,000
403 X SHH S =0l & 1,108,000 228,000 880,000
= 868,000
< 240,000
01 XM A2E X 1,108,000 228,000 880,000
OFSPIPN =P eI DNE.] 1,108,000
= 868,000
< 240,000
IS A SHelZe 25 118,000 76,000 42,000
= 118,000
403 UtXISHE X201 H 118,000 76,000 42,000
= 118,000




A BRI
I HReBIEE L AF2Hs0
S ol LaH=A (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
02 BJI2SoHet X=X 0 & At I 118,000 0 118,000
OXIINSX sdHet IAx 118,000
= 118,000
HII0IEX ESAEY 52,500 0 52,500
= 52,500
403 TtXI M S A =01 A 52,500 0 52,500
= 52,500
01 HXSHHG=Ex 52,500 0 52,500
O&HII0IER E5ALE 52,500
= 52,500
2HIFA HEIMA HZAL (ZINIHXXH) 603,000 0 603,000
= 402,000
< 201,000
308 XXM S0l ™ 603,000 0 603,000
= 402,000
£ 201,000
01 HAHHZBEEES 603,000 0 603,000
O 23R X2J| HXAMYE X2 603,000
= 402,000
= 201,000
Jl=zdstusdE 2SEX& 70,000 76,000 26,000
= 35,000
T 35,000
307 glztol & 70,000 76,000 26,000
= 35,000
S 35,000
02 I HAMAEE 70,000 76,000 26,000
OJl=dstlsdH 29X 70,000
= 35,000
S 35,000
ANXH g3y 411 - 24 270,000 110,000 160,000
= 180,000
== 90,000
403 TtXI M SA=01A 270,000 110,000 160,000
= 180,000
= 90,000
01 TtXI M ItE 2 & 270,000 110,000 160,000
OXNTH toledsd2 £ 270,000
= 180,000
= 90,000
S2THHI AR X N2 ALY 240,000 240,000 0
= 240,000
403 X SHHSA=01H 240,000 240,000 0
= 240,000
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n0

Kio

Hl w

A 1,600
A 1,600
A 1,600

4,123,732

175,842
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Wikd
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SN BAYYY
M GEo E & HII=S 2eldst
&S NS HIIS2e (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
SZEMHHE =H24= 600,000 579,000 1,000
= 200,000
< 400,000
308 XXX S0 A 600,000 579,000 21,000
= 200,000
< 400,000
01 AXSHBLEELS 600,000 579,000 21,000
Os=sZHHlE X243 600,000
= 200,000
< 400,000
StEot M Dl AL 155,000 155,000 0
= 155,000
308 XXM S0l A 155,000 0 155,000
= 155,000
01 IXNHHBNEES 155,000 0 155,000
Oot&ot+ Med] ZatAard 155,000
= 155,000
SAPHS=NHE XK ALY 30,000 30,000 0
403 Mt S E X201 & 30,000 30,000 0
01 *XSHMA=2EER 30,000 30,000 0
OsdeldE=HE EXXNE ALY 30,000
Mezg suioty XX 42,500 0 42,500
= 42,500
403 XXM S X201 42,500 0 42,500
= 42,500
TAXEH =2 X 42,500 0 42,500
O Mg sutteg dXIX& 42,500
= 42,500
=259 otdot? ALY 22,000 22,000 0
308 XXM S0 A 22,000 22,000 0
07 XX SHM2ARES 22,000 22,000 0
224 RY otESH? ALY 22,000
St=HIIS28al A3l 2,000 2,000 0
201 L2l 2,000 2,000 0
02 2=2Z 4l 2,000 2,000 0
Osgt=HIlI=8gs Haltl 2,000,000* 12| 2,000
=S=&oE E=KH 120,000 46,500 73,500
= 120,000
403 Ut S X201 & 120,000 46,500 73,500
= 120,000
01 AXSHMA=2E X 120,000 46,500 73,500




SN BZFYY
g Mo 2o & HIIS 22238
&S NS HIIS2e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=sZHbld Ssdctd =2E5XE 120,000
= 120,000
HIISH2lAE &= 9,942,990 5,995, 100 3,947,890
= 8,225,000
< 1,717,990
A" EX(HE Al 1,534,290 1,694,600 A 160,310
= 1,244,000
< 290,290
403 MtXISHH S0l & 1,534,290 1,694,600 A 160,310
= 1,244,000
< 290,290
01 XM A2 X 1,534,290 1,694,600 A 160,310
OHMEA MHDIHEAE B4 1,534,290
2 1,244,000
< 290,290
A" EXI(E=Al M20HEXI) 1,776,000 616,667 1,159,333
= 1,440,000
= 336,000
403 A X EHHS =0l A 1,776,000 616,667 1,159,333
= 1,440,000
< 336,000
01 X EHHMA=LEE 1,776,000 616,667 1,159,333
OF=Al M2HEgX =4 1,776,000
= 1,440,000
< 336,000
HE X ol A 175,000 0 175,000
2 175,000
403 X SHHSA=0l& 175,000 0 175,000
= 175,000
01 X SHMA2E X 175,000 0 175,000
OFFA RS HIFYHE X I 175,000
= 175,000
EFA cl=g OLEMH HAEAS 3,060,000 0 3,060,000
= 2,040,000
< 1,020,000
403 MHXISHHE X201 E 3,060,000 0 3,060,000
= 2,040,000
< 1,020,000
01 XM A=2EE 3,060,000 0 3,060,000
O Al 2l=g OlEMH A A 3,060,000
= 2,040,000
< 1,020,000
HSBHUXE2 ZE(HFAl) 1,097,000 1,250,000 A 153,000
= 1,097,000
403 RXSHSK =0l & 1,097,000 1,250,000 A 153,000




AN S3EMD
M GEo E & HII=S 2eldst
el HIISHM2lANE &5 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 1,097,000
01 XM A2E X 1,097,000 1,250,000 A 153,000
OFFAl &3 0UHXNE2 =4 1,097,000
= 1,097,000
HEBEUHUXIEIZ ZHAE(BE2) 1,000,000 0 1,000,000
= 1,000,000
403 XIS E X201 & 1,000,000 0 1,000,000
= 1,000,000
01 X SHHMA 22X 1,000,000 0 1,000,000
O sd=z AU XNE2 =4 1,000,000
= 1,000,000
22EAE & 788,700 0 788,700
= 717,000
< 71,700
403 XXM S X201 788,700 0 788,700
= 717,000
< 71,700
01 XXM A=2E = 788,700 0 788,700
O Wetzm ZAAL2AIE & 788,700
= 717,000
< 71,700
METRAS +HEH X XA 512,000 0 512,000
= 512,000
403 XAXISH M S K201 A 512,000 0 512,000
= 512,000
01 XM A=2E X 512,000 0 512,000
O otz MeEtTds=HEH X XA 512,000
= 512,000
HYR2IZH (D) 72,202 84,456 AN12,254
PIEET 72,202 84,456 A 12,254
Jl2&l 72,202 84,456 AN12,254
201 L2l 23,062 24,836 AN1,774
01 At 22l 23,062 24,836 AN1,T74
OJ12=&Htl 9,412
OJ12= &l 13,650
202 oddl 49,140 52,920 A 3,780
01 = LH 4 Hi 49,140 52,920 AN 3,780
OJlautl 49,140




